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Unit 5B: Factoring
5B.1 Common Factors

Greatest Common Factor (GCF):
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Ex. Determ e GCF o@a; pair of terms:
a) 16x2y and 24x%y3 b) 5m?n and 15mn? c) 48ab3c and 36a2b2c2Cl
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Factoring is the reverse process: - ‘0 x - % .4 @

To factor means to write as a product.

Ex. Write each polynomial in factored form.
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Recall double distribution:_‘(;c?i 3)%2x +y)= X(&y +3) - S(Qx‘\"letep 1
N _':-;/ﬁ .
- Q * X - =
* ﬁ Q x ?JStep 2

We can reverse step 1 by factoring a binomial factor:
Ex. Factor each polynomial.

a) 3x(x~4)(+ 5(x5/4) b) 4(x + 5)- 3x(x + 5)
(#4) G XAS X+S
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We can reverse step 2 by group factoring:
Ex. Factor each polynomial.

a) y? + 8xv 42y + 16x b) a? — ai¥)3ab —3b,
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Ex. Paula has 18 toonies, 30 loonies, and 48 quarters. She wants to group her money so that each
group has the same number of each coin and there are no coins leftover.
a) What is the maximum number of groups she can make?
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b) How many of each coin will be in each group?
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c) How much money will each group be worth?

2(a) + S(\) * 2(0-35)
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5B.% Decomposition Factoring

Recall:
(2x—-3)(x+2)

Decomposition Factoring
Factor. 3x +8x+4 xAc +B
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Check?
Ex. Factor each trinomial, if possible:
h & C© X AC .
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Step 1: Check for a GCF

- Step 2: Find two integers with
e Aproductof3 x4 =12
e Asumof8

Step 3: Split (decompose) the middle term into two parts
using the integers from step 1




f) 2y2? + 7xy + 3x2
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e) —3a®b —51a?b — 30ab

possible

Ex. Identify all values of q that allows each trinomial to be factored:

a) 2x2+qx+5 ﬁO_LL%V‘ b) 3x2 + qxy — 4y? X'i?;
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Ex. Identify two values of q that allows each trinomial to be factored:

Practice: pg. 234

b) 5a*+ 2ab + qb®
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SB.; Factoring Special Trinomials

Ex. Factor: " 2
Xoap 90 A —25p2 & +Oalb =950
A 4 A 1. -
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Difference of Squares: X ” 3) (& 5bX0»‘+ 5b)
A bmcmm.z\ Qﬁr‘esstar\ NN W") subtraction
of fwo nafes .

Pattern can be applied to both multiplication of conjugates and factoring of difference of squares.

Ex Multiply
Q £ @—@(3x+4)v (a® + Zb)(a2—7q12 2(6q — 1)(6q + 1)
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PerfectSquareTrmomlaI \L\,e resu U’s O‘C bmow\\&z\ sawmes )
(O“*.b) - Ov + dab 4 b
(o\—@ : 0 -Adab+ b

X. Multi %) A(3 g+’

Ex. Multiply: x4 572 ((3% 22 (”\) 3(2a+ )2
2 s 1 z
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How can we identify a perfect square trinomial?

T middle Ferm shoud ovuo.) douwble —the Praducf\'
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Ex. Determine the values of q that make each trinomial a perfect square:
JxP+ gx 410 \I 9x2 E+ £t g + 16 4902 + qab + 36b2
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Ex. Determine if each trlnomlal is a perfect square, if yes factor using the pattern:
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Practice: pg. 246



